Direction : (Questio

In the f(:tllmm.rirw,r num
number which is Wror
series.

n Nos, 1 and 2)

ber serjes find the
18 according to the

Lo 7y 17,3005,
(1) 9
(2) 11
(3) 23
4 15

5,13, 19, 9, 93

8, 4, 6, 15, 52
1 4
(2) 52
(3) 15
(4) 8

Direction : (Question Nos. 3 and 4)

The three different position of a dice are
given below. Select the suitable answer
of the following question. ;

7 & X
Bodinr

3. What is the symbol on the opposite
surface of T ?

W s i
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L. 7,17, 11,15, 15, 13, 19, 8,23
Iy 9
2 11
(8) 23

(4) 15

28,4, 6, 154582
(1) 4
@) 52°
@) 15
4) 8

R : (9T w3 T 4)
TH qrET B A HE-ATT R A

B Feftea el @ swgE
ST B =TT FL |

e \Lljﬂl =
x@# ﬁ_#

3. T & Rada oqe W BE-a &

g7
@ $ B
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M,\' RS ), Ssrenaa i
e S e

(9)
22. Rahul is 15th from the left in ;
a

row of 38 boys. What will be hig B4 108, W WA T il R
position from the right ¢ 163 = 97 ¥\ gwe @l s
(1) 23rd (2) 22nd § e s g, 2
(3) 24th (4) 25th ((; 234t (2) 224

244t (4) 25aT

23. If the word ‘MOUSE' can p,

written as "ONWRG”, then how 23. 4f@ ‘MOUSE w% % “ONWRG"
can the word ‘LIGHT be written Rram s &, & ‘LIGHT # 3@
in that code ? FE X fra wme R on dwe
(1) MGHFU (2) JGEFR ?1)?MGHF'U ) IR
D NS WhINEISE (3) JJEIR (4)) NH}E‘E{
4. How many tim es
; in the nugberse:r:r; 1 tz: z%;ggear i %1320 »3?:1 ? 5 s 3 o
(1) 102 (2) 122 ) 102 (2)'122
(R (4) 112 (3) 192 @) 112
Direction : (Question Nos. 25 to 29) orehsT - (ws=r gem 25 A 29)
Read the following information and Frefafgg s=eed 98 @ik S RBo
answer the questions given below. gt & I T
1. P$Q means P is mother of Q. | 1. P$Qehr a1t ¥ P,Q @l AW B\
2. P@Q means P is father of Q. 2. P@QFr a1ef B P,Q & fam 21
3. P#Q means P is husband of Q. 3. P#Q& e B P,Q & 9 2\
4. P&Q means P is daughter of Q. 4. P-&Grlfﬁf at ® P,Q & A& B
25. How is A related to C according to 25.: AM% FGEX A & C | F0
A@B#C ? Hea ® ?
(1) Father (1)
(2) Grand Father (2) =
(3) Father-in-law ' @) "9
(4) Son-in-law (49 R
26. How is C related to A according to 26. :ﬁ% ,;% REIC A oi T
A$B&_C? W et @ A
(1) Wife (2) Daughter o
(3) Mother  (4) Husband @ i
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27. How is A related to C according to
A#BSC ?
(1) Husband
(2) Father
(3) Son
(4) Wife
How is C related to A according to
A&B#C ?
(1) Mother
(2) Daughter
(3) Wife
(4) Husband

29. How is A related to C according to

A@B$C ?

(1) Grand Father

(2) Husband

(3) Maternal Grand Father
(4) Father

Direction : (Question Nos. 30 to 34)

Read the following information and
answer the questions given below.

All six members of a family P, Q, R, S, T
and U are traveling together. S is
daughter of P. U is brother of Q. Q is
daughter of R. But R is not the mother of
Q. P and R are a married couple.
30. Who is U’s mother ?

(1) S (2) P

(3) R (4) T
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27. Af%ﬁ% SHET A H C &/ F;qy
wEg & 7

(1) gfer

(3 faar

(3) A=

(4) gt :
AEB%C%W(:WA@(W
Heer B 7

(1) #=rar

(2) =<t

(3) et

(4) afa
AgBéaiﬁaﬁHWAerﬁw
ey B 7

(1) @rer

(2) ufer

(3) =T

(4) foar

feer : (97w 30 @ 34)
Frfifag STHeerd 98 ik i Ro
T g9t & IaT |

T URAR & 99 B g
T &R U U 919 a5 &7
B AT B U, Q ® owE
9 B AT R, Q
AR R ws fanfea sy B

80. Ut uf & 2 ?
1) s (2) P
(3 R (4).B

28.

29.

WO

. R,
S

P
@

e
|l

31




(1) 4

ar
31. Howis Trelated to S ¢ 31 st
7 et . T & 8 A 1 daeg B 2
(2) Father .
(2) Fem

(3) Maternal Uncle

(4) Brother ((2)) m
32. How many children does P have ? a4, P s
r (1) 1 (2) 2 @ 1 73
(3) 4 (4) 3 - R
33. How many male members are 33. qfy ¥ .
there in the family ? fhert g59 aae & 7
g &) € M 1 @ 4
e S @ 2 () 3
34. How is S related to U ? | 34. S'?ETU@ ——
(1) Sister Q) T8
(2) Mother (2) q."‘i.
ﬂ Sister-in-law (3) |
(4) Daughter (4) A

Directions : (Question Nos. 35 to 38) e

In each of the following figures number I & T aSw gl d s FivEd
hH
=

are written according to some patterns. S g8 HEl e ‘1?;. )
One number is missing. Find the | = 9 Th 2 g e
missing number that replace the 1 HE o uE e () ®|E W

question mark (?). I 2|
12 15 13

Ree - ot

<
1) 21 (1) 21
2) 13 ii)) ;3
9
- ) 19

(4) 19
NMMS-2022
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1 9 @) 2
3) 18 @ 7
87, t2a] F Ree ey R .,
ol
ETN s e
(1) 464 (2) 232
(3) 494 (4) 133
835 A2]8>
gaps
G
(1) 5 (2) 14
(3) 125 4) 25

Directions : (Question Nos. 39 to 42)

Read the following information and
answer the questions given below.

There are five person in a group A, B, C,
D and E. The group has one doctor, one
teacher and one author. A and D are
unmarried students. E is a man married
to one of the group member. B is brother
of A and is neither doctor nor author. C
is not a doctor.

39. Whois author ?
(1) A
3) C

(2) B
(4) E

NMMS-2022

(1) 9 b
(3) 18 Ay
punia - Bl ol 4
Jo
2 1
4 4 1 2 5 5 6
(1) 464 (2) 232
(3) 494 (4) 133
38. 218
T R
3\216/27 /g
93
(1) 5 (2) 14
(3) 125 (4) 25




40. Who is teacher ?
) B
2 C
(3) E
4 D
41. Who is doctor ?
(1) C
(2 B
3) D
(49 E

42. Who is wife of E ?
(1) D
@ C
(3) B
4 A
43. A clock has 6 : 47, so what does

the time of the clock appear when
you look in the mirror ?

(1) 7:13
(2) 6:13
(3) 5:13
(4) 8:13
44. If the English alphabet is written

in reverse orders, which will be
the 8th letter to the right of the

12th letter from the left ?
1) G @ T
'(38) F 4) 1

NMMS-2022
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40.

41,

42.

43.

44.

farers sy & 7
(1) B
2) C
(3) B
1) D
gFeT B B 7
(1) C
(2 B
(3) D
“r B

E & goit &9 8 ?

(1) D

@) C

) B

4) A

Th g3 # 6 Fwihe 47 e T
<l

g @ zdor # @ 9w
Y 9T UG 2T 8 7

(1) 7:13
© 6:13
(3) 5:13
(4) 8:13
gy Il @ guiHEr @ I
H9 § fyar s, @ @ & 124

e F A AR sAT !
H=-|1 BET ?

1) G 2 T
@) F 4 1




45. If the seventh day of a month
comes three days before Saturday,
then which day will be the 17th
day of that month ?

(1) Sunday
(2) Saturday
(3) Friday

(4) Wednesday

46. Various terms of an alphabet
series are given with one term

missing as shown by (?). Choose

the missing terms out of the given

alternatives.
DEF, HIJ, MNO, ?
(1) RST

(2) STU

(3) TUV

(4) SRQ

Direction : (Question Nos. 47 and 48)

Select a proper group of letters from the
given alternative.

_a_b_abaa_bab_abb

47.
(1) abbaa (2) babba
(3) ababb (4) babaa
48. qrp_q_ppqr_p_rpp
(1) qrqg (2) rqpq
(3) prpq (4) rrpq

NMMS-2022
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46.

DEF, HIJ, MNO, ?
(1) RST
(2) STU
(3) TUV
(4) SRQ

Fesr : (ws &emr 47 od 48)
T W fReedt & § o1l w1 s w@E

e g Bra Rea =t 6 off #it
ST E |

47. wabbjabaagbabyabb
warig '

a a
(1) abbaa (2) babba
(3) ababb (4 babaa
48. qrp_q_ppqr_p_rpp
(1) qrqq (2) rqpq
(3) prpq
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49. What is the angle between the two
hands at 7 : 30 in the Clock ? 49. 99 ® 7 swwr 30 e ar arat

dq 5 A
b s fhas Rl @1 @

(1) 45° (2) 60° (1) 45° (2) 60°
(3) 150 (4) nnﬂ (3) 1H° (4‘)} 30°
50. A man walked 40 meters towards 60. UF afam Iwv frenm &
- % = 40

e
HET @ =, g8 = g3 o
20ﬁtaiawaaztﬁ:qﬁw

North, took a left turn and walked
20 meters. He again took a left

turn and walked 40 metc ’

far and In w.hieh f-iirt::if)f.i:li: ?Tﬁd(ﬁi{w%wﬁ;ﬁ

from the starting point ? arrr ?

(1) 20 meters East (1) 20 Hrer o

(2) 20 meters South (2) 20 et afeor

(3) 20 meters West ) : (3) 20 HreT ufdem

(4) 100 meters South : (4) 100 Hrex afgoy
Direction : (Question Nos. 51 to 54) s @ (wss g 51 § 54)

In each of the following questions the e o o9 & g8 31 9=
first two words have a common et 7 fhelt axe | um-gEy § g9
relationship. Choose one word outof the | ¥ Ru 7u = fGwsat § & o= &
given four alternatives, which will g gA S ueAarEs foe (7) & '\
replace the question mark (?), having Uy o 9&dl & AR dEY 9= § g8l
same relationship with the third, the T ey &) S 36w R ¥

pairs are given as following.

51. Reading : Knowledge : : Work : ? 51. UST : S : : B 3
(1) Engagement | (1) &2
(2) Employment (2 W
(3) Experience ' (3) STgwA
(4) wEwT

(4) Experiment
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52. Paw: Cat:: Hoof : ? 52. Wiw::@:?
Dire
@) Tion 1) A% o e
(2) Elephant (2) =Tt ques
h four
(3) Lamb (3 A% and
(4) Horse (4) mg;r figu
give
53. White : Peace : : Red : ? 63. %z : grifer : : @er : ? '
(1) Rose (1) == 56
'
(2) Hatred : (2) gom
(3) Violence (3) fEar
(4) Cleanliness (4) wg=s5ar ,
54. South : North-West : : East - 2 54. o : SETAfe g 7
(1) South-East (1) =faror-gd
(2) South-West (2) =fror-ufdas 9
(3) North (3) X )
(4) West ' (4) gf=m : i
55. Wednesday being Republic day 55. §HQTX B TGy fRag =5 g;ﬁ
was holiday. The tenth day of the A T W€ 10 R =@g
next month  being Basant 9 H gEd o6 10 artm @
Panchami was holiday. What day BE-ET B o ?
was on 10th ?
(1) Wednesday (1) gEar
(2) Tuesday , (2) HTE
(3) Friday AT
(4) Thursday RS
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Direction : (Question Nos. 56 to 59) o3 B
= eéc}) of the following questions 3 ' (7 s g6 9 59)
question figures are given as AB,C e Wﬁ’@?{ U qey ® 4 U9
four answer figures are given as 1,93 ABE ABC A o 91 gt
and 4. Select the figure from the atissrer ;‘”EEIE"ﬂ 123 ot 4 & =q 9 & i
figures that will continue the Sories | ST sipfeat & o LI C o
given in the question figure. aﬁ'rlz M ue st % & 4
@ ®Y S @
56. Question Figures
56. uTT ampfent
ID l I - ? EIT"} 2 9
- - lcu : l X “ ‘| !cﬂ ’
) o
Answer Figures -
SR Aot
e I 2 |& [ ] )
- . (6)) n; l (2) ‘: ] °
o o (m] | o
3 I (4) | ) e N | Phla. |7 ‘ i
57. Question Figures 57. uSH SApRET
o 2.0
] ? a ?
8] : 0
A B c D A B c 3]

Answer Figures

1) @) 0 N NOAW

(4)

3) A
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Direction : (Question Nos. 60 and 61)
In the following questions, choose a
figure amongst the four alternatives
which when placed in question mark (7
space of figure (X) would complete the
pattern.

60.
N 7
(X)
1 K (2)
L]
( 4
> Pl @k
61.

(X

o Y @ K
3) 4 %

Direction : (Question Nos. 62 and 63)

In the following questions, from amongst
the figures marked 1, 2, 3 and 4 choose
the figure which satisfies the same
condition of placement of the dot(s) as in

%:(WMGO@BI)

ﬁﬂ%ﬁﬂﬂnﬁﬁwﬁmﬁﬁ&@

B W, BE o e (X) B uw
ar

e () & =\ ww vy s oA Jed
g B S )
60.
m-
1 Pz
i @ K

@) ) §§

61.

(X)

)
&) @)

PrEer : (ue " 62 T 63)

ﬁﬂmﬂqﬁﬁ,a@hﬁl,z,sﬁf
4% q g8 g oo, S g R A
@ Refy @ dge &A@ & oS

ampa X)# 81

figure (X).




a>£ji§-® @;Eb

@2 eN @ |\

\

Direction : (Question Nos. 64 and 65)

Select the. mirror image of the given

number/figure (X).

64 24169
(X)

(1) 96142

2 Sprae

B CAIMMS

(4 0ClIpS

NMMS-2022

e -
q R FEmsaA X) w oI fa

gHa |

64.

]
o G
o (&)
g’ 2

o [ =

- N
£
o3

3) AN\ (@)

(a1 dear 64 o 65)

24169
(X)

1) 96142

@ Shrae

@ earag

4 9er g




(3) (4)

5
-~

Direction : (Question Nos. 66 and 67)
Study the following number sequence
and answer the questions given below.
63745921873569437142769317

66. How many prime number are in
the sequence which are
immediately preceded by an even
number but immediately followed
by an odd number ?

(2) 13
(4) 7

(1) 5
(3) 4

67. How many ‘3 number are in the
sequence which are immediately
preceded by an even number but
immediately followed by an odd

number ?
(1) 4
(2) 2
3) 3
4) 1

NMMS-2022

(2)
Ko A4
A K|

FrEer : (as dem 66 TF 67)
Frefefaa den apEe & FAEEE B
AT i Ru 7w g\t F T F)
63745921873569437142769317

66. feu Qg 7 e e
e & s S 9B O a9
e T AfET gia 9= A O

foas g & 7
(1) 6 (2) 13
(3 4 (4) 7

67. faq T sIEE ¥ BREW Y E
frE < TR TH a9 EeA ®
AfF gia O ¥ o6 Ee
?7?

1) 4
@) 2
3) 3
) 1

P.T.0.
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Direction : (Question Nos. 68 and 69)

The gi fi (

g given figure (x) ig fi ar 8311 Ush e

figures 1, 2, 3, and + liswed by fm'.“. S %a T us &l gf¥omH EARSIIES (x‘
g

correct alternatives, Fr qEE He

68.

4]
Z

—
i
S

ViR
N

(1) (2)

) Jl @ %

LAN]
N/

69.

)

:

(X)
) i
= sy
UU ' '
@) '54' @) \@
[ [




